ribv<-diff(log(ibv),lag=1,differences=1)

par(mfrow=c(2,2))

 tsplot(ibv)

 tsplot(ribv)

 hist(ribv,nclass=35,probability=T,main="histograma ribv")

 dens=density(ribv,n=500)

 points(dens,type="l")

kurtosis(ribv)

 skewness(ribv)

par(mfrow=c(4,1))

acf(ribv)

acf(ribv,type=”partial”)

acf(ribv^2)

acf(ribv^2,type=”partial”)

modar<-ar(ribv, aic=T, order.max=30, method="yule-walker")
modar

modar<-arima.mle(ribv,model=list(order=c(10,0,0),n.cond=10)))
res<-residuals(modar)

par(mfrow=c(2,1))

res2<-(res)^2

par(mfrow=c(2,1))

acf(res2)

acf(res2,type="partial")

ribvgarch<-garch(ribv~ar(10),~garch(10,0))
summary(ribvgarch)

plot(ribvgarch)

ribvgarch$df.residuals

ribvgarch2<-garch(ribv~ar(10),~garch(10,0), cond.dist=”t”)

summary(ribvgarch2)

plot(ribvgarch2)

ribvgarch3<-garch(ribv~ar(10),~garch(1,1))

summary(ribvgarch3)

plot(ribvgarch3)

ribvgarch4<-arch(ribv~ar(10),~garch(1,1),cond.dist=”t”)

summary(ribvgarch4)

plot(ribvgarch4)

compare(ribvgarch, ribvgarch2)
ribvgarch5<-garch(ribv~ar(10),~egarch(1,1), leverage=T)
summary(ribvgarch5)

plot(ribvgarch5)
ribvgarch6<-garch(ribv~ar(10),~tgarch(1,1))
summary(ribvgarch6)

plot(ribvgarch6)
